
MATHS

BOOKS - TARGET MATHS (HINGLISH)

DEFINITE INTEGRALS

Classical Thinking

1.  is equal to

A. 

B. 0

C. 

D. 

Answer: C

W h Vid S l i

∫
e

1
dx

1

x

e

1

log(1 + e)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_O0SCY7UaQcca


Watch Video Solution

2. 

A. 

B. 2

C. 1

D. 0

Answer: D

Watch Video Solution

∫
3

1

(x − 1)(x − 2)(x − 3)dx =

3

3. 

A. 1

B. 

C. 

∫
1

0

(1 − x)9
dx =

1

10

11

10

https://dl.doubtnut.com/l/_O0SCY7UaQcca
https://dl.doubtnut.com/l/_Pcb2O5agiG9U
https://dl.doubtnut.com/l/_71Wu9QFSvcgv


D. 

Answer: B

Watch Video Solution

2

4. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

∫

0

e2 logxdx =

0

1

2

1

3

1

4

5. ∫
π / 3

0

cos 3xdx =

https://dl.doubtnut.com/l/_71Wu9QFSvcgv
https://dl.doubtnut.com/l/_rYZ3QFeseYbx
https://dl.doubtnut.com/l/_58LmW6qNz531


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

0

π

2

π

4

6.  is equal to

A. 

B. 

C. 0

D. 

Answer: B

Watch Video Solution

∫
π / 2

π / 4
cosec2dx

−1

1

1

2

https://dl.doubtnut.com/l/_58LmW6qNz531
https://dl.doubtnut.com/l/_LdimW6zxGeZt


7. 

A. 0

B. 2

C. -2

D. 1

Answer: A

Watch Video Solution

∫
2π

0

(sinx + cos x)dx =

8.  is equal to

A. 

B. 

C. 

∫
π / 8

0

dx
sec2 2x

2

1

4

1

3

1

2

https://dl.doubtnut.com/l/_LdimW6zxGeZt
https://dl.doubtnut.com/l/_0rtOmNZSYcaM
https://dl.doubtnut.com/l/_wZk5zouQSbWG


D. 

Answer: A

Watch Video Solution

1

8

9. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 4

π / 6
cos ec2xdx =

log 3

log √3

log 9

log √3
1

2

10. ∫
e

1
dx

1 + logx

x

https://dl.doubtnut.com/l/_wZk5zouQSbWG
https://dl.doubtnut.com/l/_Rt3ejfPMhwxW
https://dl.doubtnut.com/l/_lxPri9WAottg


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3

2

1

2

1

e

2

3

11. Evaluate the following integral: 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
2

1
e− 1 /xdx

1

x2

√e + 1

√e − 1

√e + 1

e

√e − 1

e

https://dl.doubtnut.com/l/_lxPri9WAottg
https://dl.doubtnut.com/l/_AHQx49rnE37L


12. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
2

1
dx =

cos(logx)

x

sin(log 3)

sin(log 2)

cos(log 3)

cos(log 2)

13. 

A. 

B. 

C. 

√3

∫

1

dx =
1

1 + x2

π

12

π

6

π

4

https://dl.doubtnut.com/l/_AHQx49rnE37L
https://dl.doubtnut.com/l/_kBEtOENwTnq7
https://dl.doubtnut.com/l/_Dn1fUJYrIq5b


D. 

Answer: A

Watch Video Solution

π

3

14. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0
dx

tan− 1 x

(1 + x2)

π2

8

π2

16

π2

4

π2

32

15. ∫
1

0
=

dx

x2 − 2x + 2

https://dl.doubtnut.com/l/_Dn1fUJYrIq5b
https://dl.doubtnut.com/l/_DGx5BZweo1qR
https://dl.doubtnut.com/l/_InwX4DWgX0km


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

2

−
π

2

π

4

−
π

4

16. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
2

1
x logxdx =

log( )
2

e

log 4

log( )
4
e

log 2

https://dl.doubtnut.com/l/_InwX4DWgX0km
https://dl.doubtnut.com/l/_7ikzHAIiI7Ko


17. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
2

0
ex( − )dx =

1

x

1

x2

+ e
e2

2

e −
e2

2

− e
e2

2

e2 −
e

2

18. 

A. 

B. 

C. 

∫
3

2

=
dx

x2 − x

log( )
2

3

log( )
1

4

log( )
4
3

https://dl.doubtnut.com/l/_7ikzHAIiI7Ko
https://dl.doubtnut.com/l/_4ORXDjAqFtPo
https://dl.doubtnut.com/l/_1FYZveio3zsH


D. 

Answer: C

Watch Video Solution

log( )
8

3

19. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
a

0
f(x)dx =

∫
a

0
f(a + x)dx

∫
a

0
f(2a + x)dx

∫
a

0
f(x − a)dx

∫
a

0
f(a − x)dx

20. ∫
π / 2

0
dx = ?

sinx

(sinx + cos x)

https://dl.doubtnut.com/l/_1FYZveio3zsH
https://dl.doubtnut.com/l/_Sb0eK8UDDf11
https://dl.doubtnut.com/l/_4H6EhvHGkQj6


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

2

π

3

π

4

π

6

21. 

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

∫
π / 2

0

dx = ?
√cos x

(√cos x + √sinx)

0

π

2

π

4

π

3

https://dl.doubtnut.com/l/_4H6EhvHGkQj6
https://dl.doubtnut.com/l/_mz01gqD4ui7F


Watch Video Solution

22. 

A. 

B. 

C. 1

D. 

Answer: A

Watch Video Solution

∫
π

0

x sinxdx =

π

0

π2

23. The value of


A. 1

B. 0

C. -1

∫
3

2
dxis _ _

√x

√5 − x + √x

https://dl.doubtnut.com/l/_mz01gqD4ui7F
https://dl.doubtnut.com/l/_BP9X76LrRUSe
https://dl.doubtnut.com/l/_m1UDeV1nQDRZ


D. 

Answer: D

Watch Video Solution

1

2

24.  x dx is equal to

A. 

B. 

C. 0

D. 2

Answer: C

Watch Video Solution

∫
1

− 1
x17 cos4

−2

−1

25.  is equal to∫
1

− 1

sin11 xdx

https://dl.doubtnut.com/l/_m1UDeV1nQDRZ
https://dl.doubtnut.com/l/_6okH14kq6oI5
https://dl.doubtnut.com/l/_o0AIlhDkynen


A. 

B. 

C. 1

D. 0

Answer: D

Watch Video Solution

10

11

2

26. The value of  is

A. 3

B. 2

C. 0

D. 

Answer: C

Watch Video Solution

∫
π / 2

−π / 2
(3 sinx + sin3 x)dx

10

3

https://dl.doubtnut.com/l/_o0AIlhDkynen
https://dl.doubtnut.com/l/_bRdHDuGCyx5y


Critical Thinking

1. The value of  depends on

A. the value of a

B. the value of b

C. the value of c

D. the values of a and b

Answer: C

Watch Video Solution

∫
2

− 2

(ax3 + bx + c)dx

2. Evaluate the definite
integrals


A. 

∫
1

0

dx

√1 + x − √x

2√2

3

https://dl.doubtnut.com/l/_bRdHDuGCyx5y
https://dl.doubtnut.com/l/_n3lkBIGm8Mam
https://dl.doubtnut.com/l/_A3r6zdsS4r9Z


B. 

C. 

D. 

Answer: B

Watch Video Solution

4√2

3

8√2

3

√2

3

3.  then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

IfI = ∫
π / 4

0

sin2 x  dx and J = ∫
π / 4

0

cos2 x  dx.

− J
π

4

2J

J

J

2

https://dl.doubtnut.com/l/_A3r6zdsS4r9Z
https://dl.doubtnut.com/l/_p1ia0RPg4rR9
https://dl.doubtnut.com/l/_Bv9cSPB9ax41


4. Evaluate : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 4

0

tan2 xdx

1 −
π

4

1 +
π

4

− 1
π

4

π

4

5. 

A. 

B. 

C. 2

D. 

∫
π

0

= ?
dx

(1 + sinx)

0

1

2

3

2

https://dl.doubtnut.com/l/_Bv9cSPB9ax41
https://dl.doubtnut.com/l/_24eFzX12ZlA6


Answer: C

Watch Video Solution

6.  is equal to

A. 2

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
3π / 4

π / 4

dx

1 + cos x

−2

1

2

−
1

2

7. The value of  is (A)  (B)  (C)  (D) 

A. 3

I = ∫
0

dx

π

2 (sinx + cos x)2

√1 + sin 2x
2 1 0 3

https://dl.doubtnut.com/l/_24eFzX12ZlA6
https://dl.doubtnut.com/l/_853BL7Xlkuyb
https://dl.doubtnut.com/l/_bJSdZRExiHBn


B. 1

C. 2

D. 0

Answer: C

Watch Video Solution

8. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
2π

0
√1 + sin dx =

x

2

0

2

8

4

https://dl.doubtnut.com/l/_bJSdZRExiHBn
https://dl.doubtnut.com/l/_xjuIVHSi5cGi


9. Evaluate:


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
3

− 1
( + )dx

tan− 1 d

x2 + 1

x2 + 1

x

π

2π

3π

0

10. 

A. 

B. 

C. 

D. 

∫
π / 4

0

tan6 x sec2 xdx =

1

7

2

7

1

3

7

https://dl.doubtnut.com/l/_49A7lZ48skrH
https://dl.doubtnut.com/l/_EmOqGlziOxbu


Answer: A

Watch Video Solution

11. Find the value of the following: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ cos ec2θ cos θdθ

π

2

π

4

√2 − 1

1 − √2

√2 + 1

1 − 2√2

12.  is equal to

A. 

∫
π / 6

0

dx
sinx

cos3 x

2

3

https://dl.doubtnut.com/l/_EmOqGlziOxbu
https://dl.doubtnut.com/l/_oIHHMKGmoprL
https://dl.doubtnut.com/l/_S2FfxenjVZCb


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

6

2

1

3

13.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 4

0

sec7 θ sin3 θdθ

1

12

3

12

5

12

7
12

https://dl.doubtnut.com/l/_S2FfxenjVZCb
https://dl.doubtnut.com/l/_o3gazlHugPD2
https://dl.doubtnut.com/l/_sZ5GYcGHhucP


14.  equals

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
a

0
x2sinx3dx

1 − cos a3

3(1 − cos a3)

− (1 − cos a3)
1

3

(1 − cos a3)
1

3

15. 

A. 

B. 

C. 

D. 

∫
2

0
 dx

3√x

√x

(3√2 − 1)
2

log 3

0

2√2

log 3

3√2

√2

https://dl.doubtnut.com/l/_sZ5GYcGHhucP
https://dl.doubtnut.com/l/_OOmZtf0auzWL


Answer: A

Watch Video Solution

16. The correct evalution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

sinx sin 2xdx

4
3

1

3

3

4

2

3

17. The value of is

A. 

∫
e2

1

dx

x(1 + logx)2

2

3

https://dl.doubtnut.com/l/_OOmZtf0auzWL
https://dl.doubtnut.com/l/_DfwGM0huFoOc
https://dl.doubtnut.com/l/_QXjoY9QzTP4x


B. 

C. 

D. 

Answer: A

Watch Video Solution

1

3

3

2

log 2

18.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

secx log(secx + tanx)dx

[log(1 + √2)]
21

2

[log(1 + √2)]
2

[log(√2 − 1)]
21

2

[log(√2 − 1)]
2

https://dl.doubtnut.com/l/_QXjoY9QzTP4x
https://dl.doubtnut.com/l/_ixNT7ZMfTPED
https://dl.doubtnut.com/l/_aVl14zScC3Ej


19. The value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
−π / 4

0

dx
1 + tanx

1 − tanx

− log 2
1

2

log 2
1

4

log 2
1

3

log 2
−1

3

20. The value of  is

A. 

B. 

C. 

D. 

∫
π

0

∣∣sin3 θ∣∣dθ

0

3

8

4
3

π

https://dl.doubtnut.com/l/_aVl14zScC3Ej
https://dl.doubtnut.com/l/_wT7ivqX7GZWN


Answer: C

Watch Video Solution

21. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 8

0

cos3 4θdθ =

2

3

1

4

1

3

1

6

22. 

A. 

∫
π / 2

π / 3
dx

√1 + cos x

(1 − cos x)
5 / 2

5

2

https://dl.doubtnut.com/l/_wT7ivqX7GZWN
https://dl.doubtnut.com/l/_ywCabUSKhe12
https://dl.doubtnut.com/l/_031nBDDkkJKO


B. 

C. 

D. 

Answer: B

Watch Video Solution

3

2

1

2

2

5

23. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

dx =
sinx cos x

1 + sin4 x

π

2

π

4

π

6

π

8

https://dl.doubtnut.com/l/_031nBDDkkJKO
https://dl.doubtnut.com/l/_QhnJBha5TRIh


24. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 4

0

=
4 sin 2θdθ

sin4 θ + cos2 θ

π

4

π

2

π

π

6

25. If , then the value of k is

A. 9

B. 3

C. 

D. 

k∫
1

0

xf(3x)dx = ∫
3

0

tf(t)dt

1

9

1

3

https://dl.doubtnut.com/l/_A60EEMu8hDRo
https://dl.doubtnut.com/l/_UyCJniPsEM7k


Answer: A

Watch Video Solution

26. Choose the correct answer
 
(A) 
(B)
 
(C)
 
(D)


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫0
2

3

dx

4 + 9x2

π

6

π

12

π

24

π

4

π

12

π

24

π

4

0

27. if  then find the value of 

A. 1

∫
k

0

=
dx

2 + 8x2

π

16
k

https://dl.doubtnut.com/l/_UyCJniPsEM7k
https://dl.doubtnut.com/l/_3WQW4ijAsU3B
https://dl.doubtnut.com/l/_lp41Ee5L9Hv4


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

2

1

4

1

8

28. The integral  has the value

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

0

dx

1 − x + x2

2π

3

2π

√3

2π

3√3

4π
3

https://dl.doubtnut.com/l/_lp41Ee5L9Hv4
https://dl.doubtnut.com/l/_kyisLrIx8ajA
https://dl.doubtnut.com/l/_BqO5kvzC6K8c


29. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0
dx =

1

ex + e−x

tan− 1(1 − e)

1 + e

tan− 1( )
e − 1

e + 1

π

4

tan− 1 e +
π

4

30. Evaluate: 

A. 

B. 

C. 

D. 

∫
1 / 2

1 / 4

dx
1

√x − x2

π

π

2

π

3

π

6

https://dl.doubtnut.com/l/_BqO5kvzC6K8c
https://dl.doubtnut.com/l/_pA2fknaYsBkX


Answer: D

Watch Video Solution

31. The value of  dx is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
5

3

x2

x2 − 4

2 − loge( )
15

7

2 + log3( )
15

7

2 + loge 3 − 4 log3 7 + 4 loge 5

2 − tan− 1( )
15

7

32. 

A. 

∫
1

0

=
dx

[ax + (1 − x)b]
2

a

b

https://dl.doubtnut.com/l/_pA2fknaYsBkX
https://dl.doubtnut.com/l/_85v8yzEg8jB8
https://dl.doubtnut.com/l/_3h7rhJRQCXDS


B. 

C. 

D. 

Answer: D

Watch Video Solution

b

a

ab

1

ab

33. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
a

0
dx

x

√a2 + x2

a(√2 − 1)

a(1 − √2)

a(1 + √2)

2a√3

https://dl.doubtnut.com/l/_3h7rhJRQCXDS
https://dl.doubtnut.com/l/_eL0X7Z1RBro8
https://dl.doubtnut.com/l/_fotBFCdRmIIX


34. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0

dx =
e− 2x

1 + e−x

log( ) − + 1
1 + e

e

1

e

log( ) − + 1
1 + e

2e

1

e

log( ) + − 1
1 + e

2e

1

e

log( ) + − 1
1 + e

2

1

e

35. Evaluate:


A. 

B. 

C. 

D. 

∫
π / 2

0

dx
1

(a2 cos2 x + b2 sin2 x)
2

πab

π2ab

π

ab

π

2ab

https://dl.doubtnut.com/l/_fotBFCdRmIIX
https://dl.doubtnut.com/l/_hv0FASLkAs5s


Answer: D

Watch Video Solution

36. The value of the integral , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

log 5

∫

0

dx
ex√ex − 1

ex + 3

3 + 2π

4 − π

2 + π

4 + π

37.  is equal to

A. 

∫
2

0
√ dx

2 + x

2 − x

π + 2

https://dl.doubtnut.com/l/_hv0FASLkAs5s
https://dl.doubtnut.com/l/_woQh11tA4sjW
https://dl.doubtnut.com/l/_H9Knk057fdgC


B. 

C. 

D. 

Answer: A

Watch Video Solution

π +
3

2

π + 1

π − 2

38. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
4

3
√ dx =

x − 3

4 − x

0

π

4

π

2

π

https://dl.doubtnut.com/l/_H9Knk057fdgC
https://dl.doubtnut.com/l/_Sjjdexi0dRYO


39. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
7

3
√(x − 3)(7 − x)dx =

π

0

2π

π

2

40. is equal to

A. 

B. 

C. 

D. 

∫
2

0

x3dx

(x2 + 1)
3 / 2

(√21)
2

(√2 − 1)
2

√2

√2 − 1

√2

6 − 2√5

√5

https://dl.doubtnut.com/l/_qf7Dv5KE3zPc
https://dl.doubtnut.com/l/_iWG5Q1LM3M0z


Answer: D

Watch Video Solution

41. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
a

0
dx

x4

(a2 + x2)4

( − )
1

16a3

π

4

1

3

( + )
1

16a3

π

4

1

3

a3( − )
1

16

π

4

1

3

a3( + )
1

16

π

4

1

3

42.  is equal to (A)  (B)  (C) 

 (D) none of these

∫
π

0

, a < 1
dx

1 − 2a cos x + a2

πa log 2

4

4π

2 − a2

π

1 − a2

https://dl.doubtnut.com/l/_iWG5Q1LM3M0z
https://dl.doubtnut.com/l/_lsIPDt2AmSG5
https://dl.doubtnut.com/l/_FTrrhpe5bdip


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

2(1 − a2)

π(1 − a2)

π

1 − a2

2π(1 − a2)

43. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1

0
x2exdx

e − 2

e + 2

e2 − 2

e2

https://dl.doubtnut.com/l/_FTrrhpe5bdip
https://dl.doubtnut.com/l/_W2i7kuW9Kl2H


44.  sin x dx is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

−π / 4

e−x

− e
1

2

− x

2

− e
√2

2

− π

4

−√2(e + e )
π

4
− π

4

0

45. 

A. 

B. 

C. 

∫
1

0
x tan− 1 xdx =

− log 2
π

4

1

2

π − log 2
1

2

− log 2
π

4

https://dl.doubtnut.com/l/_W2i7kuW9Kl2H
https://dl.doubtnut.com/l/_MUe9zPkZghV0
https://dl.doubtnut.com/l/_e2pP55ShGZ8b


D. 

Answer: A

Watch Video Solution

π − log 2

46. 

A. 

B. 1

C. 2

D. -1

Answer: B

Watch Video Solution

∫
1

0
cos − 1 xdx =

0

47.  equals to

π2 / 4

∫

0

sin √xdx

https://dl.doubtnut.com/l/_e2pP55ShGZ8b
https://dl.doubtnut.com/l/_PSaf9EkKSoGe
https://dl.doubtnut.com/l/_nX07UjGBZgs5


A. 0

B. 1

C. 2

D. 4

Answer: C

Watch Video Solution

48. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1

0
sin− 1( )dx

2x

1 + x2

− 2 log √2
π

2

+ 2 log √2
π

2

− log √2
π

4

+ log √2
π

4

https://dl.doubtnut.com/l/_nX07UjGBZgs5
https://dl.doubtnut.com/l/_rxYXf601qtsy


49. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

ex( )dx = ?
1 + sinx

1 + cos x

−log 2

log 2

π

2

0

50. 

A. 

B. 

C. 

∫
π / 6

0
(2 + 3x2)cos 3xdx =

(π + 16)
1

36

(π − 16)
1

36

(π2 − 16)
1

36

https://dl.doubtnut.com/l/_rxYXf601qtsy
https://dl.doubtnut.com/l/_xrRzo4qhJgqK
https://dl.doubtnut.com/l/_atwO3fLrjmu2


D. 

Answer: D

Watch Video Solution

(π2 + 16)
1

36

51. If  then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
e

2

( − )dx = a + ,
1

logx

1

(logx)2

b

log 2

α = e, β = − 2

α = 3, β = 2

α = − 3, β = 2

α = − e, β = − 2

52. ∫
e

1

ex( )dx
1 + x logx

x

https://dl.doubtnut.com/l/_atwO3fLrjmu2
https://dl.doubtnut.com/l/_fMr5JeffOhKx
https://dl.doubtnut.com/l/_SU25LL7669CE


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ee

ee − e

ee + e

ee +
e

2

53. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ ex(log sinx + cot x)dx

π

2

π

4

e log 2
π

4

−e log 2
π

4

e log 2
1

2

π

4

− e log 2
1

2

π

4

https://dl.doubtnut.com/l/_SU25LL7669CE
https://dl.doubtnut.com/l/_n5IveoA6udRw


Watch Video Solution

54. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0

ex dx
x − 1

(x + 1)3

e

4

− 1
e

4

+ 1
e

4

− 1
e

2

55. If , then 

A. 

B. 

C. 

x(x4 + 1)ϕ(x) = 1 ∫
2

1

ϕ(x)dx =

log
1

4

32

17

log
1

2

32

17

log
1

4

16

17

https://dl.doubtnut.com/l/_n5IveoA6udRw
https://dl.doubtnut.com/l/_uJ7XBjKaqPBq
https://dl.doubtnut.com/l/_0AeYLqIc2ebk


D. 

Answer: A

Watch Video Solution

log
1

2

16

17

56.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

dx
cos x

(1 + sinx)(2 + sinx)

log( )
4
3

log( )
1

3

log( )
3

4

log( )
2

3

https://dl.doubtnut.com/l/_0AeYLqIc2ebk
https://dl.doubtnut.com/l/_8LojNa7CaVd3


57. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 4

0

dx
sec2 x

(1 + tanx)(2 + tanx)

loge( )
2

3

loge 3

loge( )
1

2
4
3

loge( )
4
3

58. Evaluate: 

A. 

B. 

C. 

∫
0

dx

π

4 secx

1 + 2 sin2 x

[log(√2 + 1) + ]
1

3

π

2√2

[log(√2 + 1) − ]
1

3

π

2√2

3[log(√2 + 1) − ]
π

2√2

https://dl.doubtnut.com/l/_vRir7Xw9FSoJ
https://dl.doubtnut.com/l/_LgzjdwSOhzxw


D. 

Answer: A

Watch Video Solution

3[log(√2 + 1) + ]
π

2√2

59. For all values of ,  has the value

A. -1

B. 1

C. 0

D. 2

Answer: B

Watch Video Solution

tan x

∫

1 / e

dt +

tan x

∫

1 / e

t

1 + t2

dt

t(t + t2)

https://dl.doubtnut.com/l/_LgzjdwSOhzxw
https://dl.doubtnut.com/l/_MeV6QxhtiqpP


60. Evaluate , where 

A. 80

B. 20

C. 27

D. 37

Answer: D

Watch Video Solution

∫
4

1
f(x)dx f(x) = {

4x + 3 if1 ≤ x ≤ 2

3x + 5 if2 ≤ x ≤ 4.

61. 

A. 

B. 

C. 

D. 

∫
2

− 1
|x|dx =

5

2

1

2

3

2

7
2

https://dl.doubtnut.com/l/_eQk8JfpIP2I3
https://dl.doubtnut.com/l/_6ot25RMX7fpF


Answer: A

Watch Video Solution

62.  equals

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
3

0
|2 − x|dx

2

7

5
2

3
2

−
3
2

63. 

A. 50

∫
4

− 4
|x + 2|dx

https://dl.doubtnut.com/l/_6ot25RMX7fpF
https://dl.doubtnut.com/l/_C1bLIr9IUfPU
https://dl.doubtnut.com/l/_rGnLDlcmrB7H


B. 24

C. 20

D. 30

Answer: C

Watch Video Solution

64. 

A. 0

B. 1

C. 2

D. 4

Answer: D

Watch Video Solution

∫
2π

0

|sinx|dx = ?

https://dl.doubtnut.com/l/_rGnLDlcmrB7H
https://dl.doubtnut.com/l/_7ourOMqlddFz
https://dl.doubtnut.com/l/_UAZxcO5Izs5f


65. 

A. 0

B. 4

C. 8

D. 1

Answer: B

Watch Video Solution

∫
2π

0

(sinx + |sinx|)dx =

66.  is equal to

A. 0

B. 2

C. 1

D. -1

∫
π

0

√ dx
cos 2x + 1

2

https://dl.doubtnut.com/l/_UAZxcO5Izs5f
https://dl.doubtnut.com/l/_f0aiuEAQJgKz


Answer: B

Watch Video Solution

67. If 
denotes the greatest integer less than or equal to 
then find

the value of the integral 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[x] x,

∫
2

0
x2[x]dx.

5

3

7
3

8

3

4
3

68. ∫
0

dx

π

2 cos x − sinx

1 + sinx cos x

https://dl.doubtnut.com/l/_f0aiuEAQJgKz
https://dl.doubtnut.com/l/_VApUDuKAsY3O
https://dl.doubtnut.com/l/_WHgVcMFOa6dL


A. 

B. -2

C. 0

D. 1

Answer: C

Watch Video Solution

2

69. 

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

∫
0

log(tanx)dx = 0

π

2

loge 2
π

2

− loge 2
π

2

π loge 2

https://dl.doubtnut.com/l/_WHgVcMFOa6dL
https://dl.doubtnut.com/l/_w5XEZ0Wpkip7


70. The value of the integral  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2a

∫

0

dx
f(x)

f(x) + f(2a − x)

a

a

2

2a

0

71. The value of  is

A. 

B. 

C. 

∫
π / 2

0
dx

1000sin x

1000sin x + 1000cos x

π

4

π

2

π

https://dl.doubtnut.com/l/_w5XEZ0Wpkip7
https://dl.doubtnut.com/l/_9m1JBGNEA0co
https://dl.doubtnut.com/l/_TN5g52Un8eRy


D. 

Answer: A

Watch Video Solution

2π

72. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

dx =
ex

2

ex
2 +e

( − x)
2π

2

π

4

π

2

e
π2

16

e
π2

4

73. ∫
π / 2

0
dx

sin3 / 2 x

sin3 / 2 x + cos3 / 2 x

https://dl.doubtnut.com/l/_TN5g52Un8eRy
https://dl.doubtnut.com/l/_A7KE6OpZxJWs
https://dl.doubtnut.com/l/_DvGsgz2DYtzK


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0

π

π

2

π

4

74. The value of  is

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

dx

1 + tan3 x

π

2

π

4

https://dl.doubtnut.com/l/_DvGsgz2DYtzK
https://dl.doubtnut.com/l/_LlCHKI7wCvKR


75. The value of  is

A. 1

B. -1

C. 0

D. 

Answer: C

Watch Video Solution

∫
π

0

ecos2 x cos5 3xdx

π

2

76. The value of  is

A. 2

B. 

C. 

∫
π / 2

0

lot( )dx
4 + 3 sinx

4 + 3 cos x

3

4

0

https://dl.doubtnut.com/l/_LlCHKI7wCvKR
https://dl.doubtnut.com/l/_CnH1zqpuV2Gh
https://dl.doubtnut.com/l/_g3fTCzMWUEWD


D. 1

Answer: C

Watch Video Solution

77. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π / 2

∫

0

=
dθ

1 + tan θ

π

π

2

π

3

π

4

https://dl.doubtnut.com/l/_g3fTCzMWUEWD
https://dl.doubtnut.com/l/_dAz0zDLtiEUl


78. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π

0

x sin3 xdx

4π
3

2π

3

0

π

4

79. 

A. 

B. 

C. 

∫
0

log(sinx)dx = ∫
0

log(cos x)dx = log.

π

2

π

2 π

2

1

2

−( )log 2
π

2

πlog
1

2

−πlog
1

2

https://dl.doubtnut.com/l/_o2gApsMEswpr
https://dl.doubtnut.com/l/_2NqagXaGKl9p


D. 

Answer: A

Watch Video Solution

log 2
π

2

80. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π

0

x log sinxdx

log
π

2

1

2

log
π2

2

1

2

πlog
1

2

π2log
1

2

81. The value of  is equal to∫
π / 4

0

log(1 + tan θ)dθ

https://dl.doubtnut.com/l/_2NqagXaGKl9p
https://dl.doubtnut.com/l/_tKZcFE4TwooK
https://dl.doubtnut.com/l/_cZBSIzHm6y2m


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

log 2
π

4

log
π

4

1

2

log 2
π

8

log
π

8

1

2

82. The value of 
is
(A) 1 (B) 0 (C) -1 (D)


A. 1

B. 0

C. -1

D. 2

Answer: B

Watch Video Solution

∫01 tan− 1( )dx
2x − 1

1 + x − x2

π

4

https://dl.doubtnut.com/l/_cZBSIzHm6y2m
https://dl.doubtnut.com/l/_tIP2lyJZ2NUH


83. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π

0

dx
x tanx

secx + tanx

− 1
π

2

π( + 1)
π

2

+ 1
π

2

π( − 1)
π

2

84. Evaluate the following : 

A. 

B. 

∫
π / 3

π / 6
dx

1

1 + √cot x

π

3

π

6

https://dl.doubtnut.com/l/_tIP2lyJZ2NUH
https://dl.doubtnut.com/l/_LwvxS1qYavrH
https://dl.doubtnut.com/l/_3Q2rIDgBMPFa


C. 

D. 

Answer: C

Watch Video Solution

π

12

π

2

85. If  then  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(a + b − x) = f(x), ∫
b

a

xf(x)dx

∫
b

a

f(b − x)dx
a + b

2

∫
b

a

f(x)dx
a + b

2

∫
b

a

f(x)dx
b − a

2

(a + b)∫
b

a

f(x)dx

https://dl.doubtnut.com/l/_3Q2rIDgBMPFa
https://dl.doubtnut.com/l/_rQy6keW5wRMP


86. If  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = f(2 − x) ∫
1.5

0 .5
xf(x)dx =

∫
1

0

f(x)dx

∫
1.5

0.5

f(x)dx

2∫
1.5

0.5

f(x)dx

0

87. If : , then :

A. 

B. 

C. 

D. 

∫
2a

0
f(x)dx = 2. ∫

a

0
f(x)dx

f(2a − x) = − f(x)

f(2a − x) = f(x)

f(a − x) = − f(x)

f(a − x) = f(x)

https://dl.doubtnut.com/l/_yLKzJWBb2THc
https://dl.doubtnut.com/l/_pMzA8DV5UWft


Answer: B

Watch Video Solution

88.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π

0

sin2 xdx

π

π

2

0

π

3

89. 

A. 

∫
π

0
|cos x|dx = ?

π

https://dl.doubtnut.com/l/_pMzA8DV5UWft
https://dl.doubtnut.com/l/_7ORosrttB9uF
https://dl.doubtnut.com/l/_NPwIut7QAorD


B. 0

C. 2

D. 1

Answer: C

Watch Video Solution

90. The value of  is

A. 1

B. -1

C. 99

D. 0

Answer: D

Watch Video Solution

∫
2π

0

cos99 xdx

https://dl.doubtnut.com/l/_NPwIut7QAorD
https://dl.doubtnut.com/l/_wrbubVP3aNZM
https://dl.doubtnut.com/l/_XvYlLMKZts1z


91. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π

0
log sin2

xdx =

2π loge( )
1

2

π loge 2

loge( )
π

2

1

2

π loge( )
1

2

92. 

A. 

B. 

C. 

D. 

∫
π

0
dx

x

a2 cos2 x + b2 sin2 x

π

ab

π

2ab

π2

ab

π2

2ab

https://dl.doubtnut.com/l/_XvYlLMKZts1z
https://dl.doubtnut.com/l/_b1ZzIi8hLWb7


Answer: D

Watch Video Solution

93. If  then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

− 1
f(x)dx = 0

f( − x) = f(x)

f( − x) = − f(x)

f(x) = 2f(x)

f( − x) = 2f(x)

94. Suppose  is such that  for every real x and 

, then 

f f( − x) = − f(x)

∫
1

0

f(x)dx = 5 ∫
0

− 1

f(t)dt =

https://dl.doubtnut.com/l/_b1ZzIi8hLWb7
https://dl.doubtnut.com/l/_5zGG0B1hf4FB
https://dl.doubtnut.com/l/_KbF7vDh84ioX


A. 10

B. 5

C. 0

D. -5

Answer: D

Watch Video Solution

95. 

A. 1

B. 0

C. 2

D. -2

Answer: B

Watch Video Solution

∫
1

− 1
|x|dx = ?

https://dl.doubtnut.com/l/_KbF7vDh84ioX
https://dl.doubtnut.com/l/_V0x0ZjPfaSIq


96. Evaluate : 

A. 0

B. 2

C. -2

D. 1

Answer: B

Watch Video Solution

∫
−

|sinx|dx

π

2

π

2

97. The value of  is

A. 0

B. 

∫
a

−a

dx
1

x + x3

∫
a

0
dx

1

1 + x6

https://dl.doubtnut.com/l/_V0x0ZjPfaSIq
https://dl.doubtnut.com/l/_9YNPdQPwvsW4
https://dl.doubtnut.com/l/_iBVKBeD3YXVW


C. 

D. 

Answer: A

Watch Video Solution

2∫
a

0
dx

1

1 + x3

∫
a

0
dx

1

1 + (a − x)3

98. 

A. 

B. 0

C. 1

D. 

Answer: B

Watch Video Solution

∫
a

−a

sinxf(cos x)dx =

a

−1

https://dl.doubtnut.com/l/_iBVKBeD3YXVW
https://dl.doubtnut.com/l/_5pYZ08THCHOf


99.  is equal to

A. 

B. 1

C. 0

D. -1

Answer: C

Watch Video Solution

∫
π / 2

−π / 2
e− cos2 xdx

sinx

1 + cos2 x

2e− 1

100. 

A. 0

B. 1

C. -1

D. 2

∫
1

− 1

(√1 + x + x2 − √1 − x + x2)dx =

https://dl.doubtnut.com/l/_0wnEQXlZtEq4
https://dl.doubtnut.com/l/_ctFxY5obpVlR


Answer: A

Watch Video Solution

101.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

− 1
(ex

3
+ e−x3

)(ex − e−x)dx

− 2e
e2

2

e2 − 2e

0

2e− 2 − 2e

102. 

A. 2

∫
1

− 1

log( )dx =
1 + x

1 − x

https://dl.doubtnut.com/l/_ctFxY5obpVlR
https://dl.doubtnut.com/l/_5ynJZR6PTX14
https://dl.doubtnut.com/l/_ljCjZ9dO4kKI


B. 1

C. 0

D. -1

Answer: C

Watch Video Solution

103.  is equal to

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

∫
1 / 2

− 1 / 2
(cos x)[log( )]dx

1 − x

1 + x

e
1
2

2e
1
2

https://dl.doubtnut.com/l/_ljCjZ9dO4kKI
https://dl.doubtnut.com/l/_f7VumRnsCRct


104. The value of  is

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
−

log(secθ − tan θ)dθ

π

4

π

4

π

4

π

π

2

105. 

A. 

B. 

C. 

D. 

∫
1

− 1

log(x + √x2 + 1)dx = ?

0

log 2

log
1
2

1

https://dl.doubtnut.com/l/_0Dezw64DckJd
https://dl.doubtnut.com/l/_v3Nvd2ku0pYE


Answer: A

Watch Video Solution

106. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
−

sin2 xdx

π

2

π

2

π

3

π

4

π

6

π

2

107. The value of the integral , is

π / 4

∫

0

sin− 4 xdx

https://dl.doubtnut.com/l/_v3Nvd2ku0pYE
https://dl.doubtnut.com/l/_kC5ivgeweXFC
https://dl.doubtnut.com/l/_btw6xCFqWrxo


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

2

−8

3

3

8

8

3

108. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

− 1
dx =

1 + x3

9 − x2

log 2

log 2
1

3

log 9

log 9
1

3

https://dl.doubtnut.com/l/_btw6xCFqWrxo
https://dl.doubtnut.com/l/_Avdb4370Azz1


109.  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π

−π

dx
2x(1 + sinx)

1 + cos2

π2

4

π2

0

π

2

110. 

A. 

B. 

C. 

∫
π / 2

0

dx
sinx

(1 + cos2 x)

π

2

π

4

π

3

https://dl.doubtnut.com/l/_Avdb4370Azz1
https://dl.doubtnut.com/l/_oRA2m4gpsGWz
https://dl.doubtnut.com/l/_5Ow2KlZR34lQ


D. 

Answer: B

Watch Video Solution

π

6

111. Evaluate: 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

√cos θ sin3 θdthη

20

21

8

21

−20

21

−8

21

https://dl.doubtnut.com/l/_5Ow2KlZR34lQ
https://dl.doubtnut.com/l/_qmSZasyL7Rbm


112. If the value of the integral  is equal to , then

the value of k is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I = ∫
1

0

dx

x + √1 − x2

π

k

π

3

π

2

1
2

π

4

113. Let  and .Then

A. 

B. 

C. 

I1 =

2

∫

1

dx
1

√1 + x2
I2 =

2

∫

1

dx
1

x

I1 > I2

I2 > I1

I1 = I2

https://dl.doubtnut.com/l/_FiPMXLUZwxt2
https://dl.doubtnut.com/l/_lR4swymIrvMc


D. 

Answer: B

Watch Video Solution

I1 > 2I2

114. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

=
sinx cos xdx

cos2 x + 3 cos x + 2

log( )
8

9

log( )
9

8

log(8 × 9)

log( )
3

8

115.  is equal to∫
8

3
dx

2 − 3x

x√1 + x

https://dl.doubtnut.com/l/_lR4swymIrvMc
https://dl.doubtnut.com/l/_Pl1YtgC2SyBj
https://dl.doubtnut.com/l/_SUZDiqA27dpo


Competitive Thinking

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 log( )
3

2e3

log( )
3

e3

4 log( )
3

e3

log( )
3

2e3

1. Which of the following is true?

A. 

B. 

C. 

D. 

∫
1

0
√xdx =

2

3

∫
1

0
√xdx =

3

2

∫
1

0
√xdx =

5

2

∫
1

0
√xdx =

1

2

https://dl.doubtnut.com/l/_SUZDiqA27dpo
https://dl.doubtnut.com/l/_a0UKSs4wqTto


Answer: A

Watch Video Solution

2. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
0

dx =

π

2 sinx + cos x

√1 + sin 2x

−
π

2

π

4

π

2

π

3. If  then 

A. 

∫
π / 2

0
log cos xdx = log( ),

π

2

1

2
∫

π / 2

0
log secxdx =

log( )
π

2

1

2

https://dl.doubtnut.com/l/_a0UKSs4wqTto
https://dl.doubtnut.com/l/_GSmvfFPLWJlr
https://dl.doubtnut.com/l/_bA1IJVhICmiE


B. 

C. 

D. 

Answer: D

Watch Video Solution

1 − log( )
π

2

1

2

1 + log( )
π

2

1

2

log 2
π

2

4. If  dx = p , then the value of  dx is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

0
tan− 1 x ∫

1

0
tan− 1( )

1 − x

1 + x

1 − p

1 + p

1 − p

− p
π

4

+ p
π

4

https://dl.doubtnut.com/l/_bA1IJVhICmiE
https://dl.doubtnut.com/l/_OaHLzjdVzHOc
https://dl.doubtnut.com/l/_s6GylEmIjkTj


5.  is

A. 4

B. 2

C. 0

D. 1

Answer: D

Watch Video Solution

∫
−

π

4

π

4

dx

1 + cos 2x

6. 

A. 

B. 1

C. 0

D. 2

∫
0

dx =

π

2 cos 2x

cos x + sinx

−1

https://dl.doubtnut.com/l/_s6GylEmIjkTj
https://dl.doubtnut.com/l/_2IyWjFanw28r


Answer: C

Watch Video Solution

7. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
0

cos6 xdx =

π

2

5π

16

5π

32

5

16

5

32

8.  is equal to

A. 2

∫
0

− 1

dx

x2 + 2x + 2

https://dl.doubtnut.com/l/_2IyWjFanw28r
https://dl.doubtnut.com/l/_3WXCaf0J8sZK
https://dl.doubtnut.com/l/_3mVYGcp721q7


B. 

C. 

D. 

Answer: B

Watch Video Solution

π

4

−π

4

π

2

9. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
√2

0

√2 − x2dx = ?

π

2

π

0

−
π

2

https://dl.doubtnut.com/l/_3mVYGcp721q7
https://dl.doubtnut.com/l/_SkQATvBHjxoi


10.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0
dx

dx

ex + e−x

− tan− 1(e)
π

4

tan− 1(e) −
π

4

tan− 1(e) +
π

4

tan− 1(e)

11.  is equal to

A. 

B. 

C. 

D. 

3a∫
1

0

( )
2

dx
ax − 1

a − 1

a − 1 + (a − 1) − 2

a + a− 2

a − a− 2

a2 +
1

a2

https://dl.doubtnut.com/l/_tl0yKLJJWySe
https://dl.doubtnut.com/l/_L5uF2B1H2TwG


Answer: A

Watch Video Solution

12.  is equal to

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫
π / 4

0

sin(x − [x])d(x − [x])

1

2

1 −
1

√2

1

13. The function  satisfies the equation

A. 

L(x) = ∫
x

1

dt

t

L(x + y) = L(x) + L(y)

https://dl.doubtnut.com/l/_L5uF2B1H2TwG
https://dl.doubtnut.com/l/_0LVpK60jBc3v
https://dl.doubtnut.com/l/_SJIshSx2GUaW


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

L( ) = L(x) + L(y)
x

y

L(xy) = L(x) + L(y)

14. If , then the value of , is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

b

∫

a

{f(x) − 3x}dx = a2 − b2 f( )
π

6

π

6

2π

3

π

3

π

2

https://dl.doubtnut.com/l/_SJIshSx2GUaW
https://dl.doubtnut.com/l/_oXSKWIlX7WK4


15. The value of the integral  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

l = ∫
1

0
x(1 − x)ndx

1

n + 1

1

n + 2

−
1

n + 1

1

n + 2

+
1

n + 1

1

n + 2

16. 

is equal to

A. 

B. 

∫
π / 4

0

(cos x − sinx)dx + ∫
5π / 4

π / 4

(sinx − cos x)dx + ∫
π / 4

2π

(cos x − sinx)

√2 − 2

2√2 − 2

https://dl.doubtnut.com/l/_UqfF9eqhxKby
https://dl.doubtnut.com/l/_zk7jBYsQhNwy


C. 

D. 

Answer: D

Watch Video Solution

3√2 − 2

4√2 − 2

17. Let 
 If 


then one of the possible values of 

is:
15 (b) 16
(c) 63 (d)
64

A. 15

B. 64

C. 63

D. 16

Answer: B

Watch Video Solution

F (x) = ( ), x > 0.
d

dx

esin x

x

∫
4

1

es ∈ x3dx = F (k) − F (1),
3

x
k,

https://dl.doubtnut.com/l/_zk7jBYsQhNwy
https://dl.doubtnut.com/l/_x6T1zO8EWRbc


18. Suppose that F (x) is an antiderivative of  , then

 can be expressed as

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = , x > 0
sinx

x

∫
3

1
dx

sin 2x

x

F (6) − F (2)

[F (6) − f(2)]
1

2

[F (3) − F (1)]
1

p

2[F (6) − F (2)]

19. The value of integral 

A. 2

B. -1

∫
2 /π

1 /π

dx =
sin( )1

x

x2

https://dl.doubtnut.com/l/_x6T1zO8EWRbc
https://dl.doubtnut.com/l/_4mJPOtfwACuu
https://dl.doubtnut.com/l/_HbZfyDX8poha


C. 0

D. 1

Answer: D

Watch Video Solution

20. The value of the integral  equals

A. 1

B. 2

C. 0

D. 4

Answer: B

Watch Video Solution

∫
0

dx

π

4 √tanx

sinx cos x

https://dl.doubtnut.com/l/_HbZfyDX8poha
https://dl.doubtnut.com/l/_vCoVcD695Zm2


21. If 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

In = ∫
π / 4

0

tann θ  dθ, then I8 + I6 =

1

4

1

5

1

6

1

7

22. If  then  is equal to

A. 1

B. 2

C. 0

D. None of these

g(1) = g(2), ∫
2

1
[f{g(x)}] − 1

f' {g(x)}g' (x)dx

https://dl.doubtnut.com/l/_PkE141PlW7sz
https://dl.doubtnut.com/l/_P583MdJFpCNs


Answer: C

Watch Video Solution

23. If , then the value of k is

A. 3

B. 4

C. 

D. 

Answer: C

Watch Video Solution

∫
k

0
=

dx

2 + 18x2

π

24

1

3

1

4

24.  is equal to

A. 

∫
0

− 1

dx

x2 + 2x + 2

π

4

https://dl.doubtnut.com/l/_P583MdJFpCNs
https://dl.doubtnut.com/l/_vQH6DxkBYjq2
https://dl.doubtnut.com/l/_cII6VSTrIBGo


B. 

C. 

D. 

Answer: A

Watch Video Solution

π

2

π

0

25. The value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1

0
dx

x2

1 + x2

1 −
π

4

− 1
π

4

1 −
π

2

0

https://dl.doubtnut.com/l/_cII6VSTrIBGo
https://dl.doubtnut.com/l/_WFKKrvFxZ9Ha
https://dl.doubtnut.com/l/_dVPm0A4UHIZm


26. The value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1

0
dx

x4 + 1

x2 + 1

(3π − 4)
1

6

(3 − 4π)
1

6

(3π + 4)
1

6

(3 + 4π)
1

6

27. 

A. 

B. 

C. 

D. 

∫
3

0

dx =
3x + 1

x2 + 9

log(2√2) +
π

12

log(2√2 +
π

2

log(2√2) +
π

6

log(2√2) +
π

3

https://dl.doubtnut.com/l/_dVPm0A4UHIZm
https://dl.doubtnut.com/l/_moStriuJhi5m


Answer: A

Watch Video Solution

28. The value of  is

A. 

B. 

C. 0

D. 

Answer: A

Watch Video Solution

∫
1

0
 dx

x4(1 − x)4

1 + x2

− π
22

7

2

105

−
71

15

3π
2

29. 

A. 

∫
1

0

√ dx
1 − x

1 + x

− 1
π

2

https://dl.doubtnut.com/l/_moStriuJhi5m
https://dl.doubtnut.com/l/_vXXzluPQofSQ
https://dl.doubtnut.com/l/_BYJlBIc7W2re


B. 

C. 

D. 

Answer: A

Watch Video Solution

+ 1
π

2

π

2

π + 1

30. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

− 1
√ dx =

1 − x

1 + x

π

4

π

3

π

2

π

https://dl.doubtnut.com/l/_BYJlBIc7W2re
https://dl.doubtnut.com/l/_G6C1fc5kiQ4M
https://dl.doubtnut.com/l/_d2Yp0hV6zDm1


31. Evaluate the following : 

.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0
dx

1

a2 sin2 x + b2 cos2 x

πa

4b

πa

2b

πb

4a

π

2ab

32.  is equal to

A. 

B. 

C. 

∫
1 / 2

0

dx

(1 + x2)√1 − x2

tan− 1 √
1

√2

2

3

tan− 1( )
2

√2

3

√2

tan− 1( )
√2

2

3

2

https://dl.doubtnut.com/l/_d2Yp0hV6zDm1
https://dl.doubtnut.com/l/_8XCiJUQ2t5Y1


D. 

Answer: A

Watch Video Solution

tan− 1( )
√2

2

√3

2

33. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

=
dx

2 + cos x

tan− 1( )
1

√3

1

√3

√3 tan− 1(√3)

tan− 1( )
2

√3

1

√3

2√3 tan− 1(√3)

34. ∫
π

0

dx

(5 + 4 cos x)

https://dl.doubtnut.com/l/_8XCiJUQ2t5Y1
https://dl.doubtnut.com/l/_m76IK7j2P0ok
https://dl.doubtnut.com/l/_QntfOodEClSw


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2π

3π

2

5π

4

π

3

35. Evaluate :  

A. 

B. 

C. 

D. 

(i)∫
π / 2

0

dx
cos x

(cos. + sin. )x

2
x

2

(ii)∫
π / 2

0
dx

cos x

(1 + cos x + sinx)

+ log 2
π

4

1

2

+ log 2
π

4

− log 2
π

4

1

2

− log 2
π

4

https://dl.doubtnut.com/l/_QntfOodEClSw
https://dl.doubtnut.com/l/_B8JsMkEu0Tft


Answer: C

Watch Video Solution

36. The value of the definite integral  for 

 is equal

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0
( )dx

1

x2 + 2x cosα + 1

0 < α < π

sinα

tan− 1(sinα)

α sinα

(sinα) − 1α

2

37.  equals∫
π / 4

0

(√tanx + √cot x)dx

https://dl.doubtnut.com/l/_B8JsMkEu0Tft
https://dl.doubtnut.com/l/_gfZ0EpwAFV4g
https://dl.doubtnut.com/l/_JQ9jVSO4pdC4


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√2π

π

2

π

√2

2π

38. If  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
a

log 2

dx = 2
ex

√ex − 1
a =

0

2 log 2

log 5

log 2

https://dl.doubtnut.com/l/_JQ9jVSO4pdC4
https://dl.doubtnut.com/l/_WXUrW0vlKa9v


39. If , then  is equal to

A. 

B. 2

C. 4

D. -1

Answer: C

Watch Video Solution

∫
x

log  2
=

du

(eu − 1)1 / 2

π

6
ex

1

40. 

A. 

B. 

C. 

Thevalueo ∫ sec(πx)dxis _ _
f(π2)

1n3

5
6

7
6

2π

3

π

2

π

https://dl.doubtnut.com/l/_WXUrW0vlKa9v
https://dl.doubtnut.com/l/_EpuDVCtBjNPU
https://dl.doubtnut.com/l/_WjRQ1bOnDH0m


D. 

Answer: C

Watch Video Solution

4π
3

41. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0
sin(2 tan− √ )dx

1 + x

1 − x

π

6

π

4

π

2

π

42. ∫
π / 4

0

x sec2 x  dx =

https://dl.doubtnut.com/l/_WjRQ1bOnDH0m
https://dl.doubtnut.com/l/_g6UGyfZ1yVQW
https://dl.doubtnut.com/l/_2gJbgBLUFbrF


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ log √2
π

4

− log √2
π

4

1 + log √2

1 − log 2
1

2

43. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

ex sinxdx =

(e − 1)
1

2

π

2

(e + 1)
1

2

π

2

(1 − e )
1

2

π

2

2(e + 1)
π

2

https://dl.doubtnut.com/l/_2gJbgBLUFbrF
https://dl.doubtnut.com/l/_tXHbaR6PqRhw


44. Evaluate : .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

b

∫

a

dx
logx

x

log( )
log b

loga

log(ab)log( )
b

a

log(ab)log( )
1

2

b

a

log(ab)log( )
1

2
a

b

45. 

A. 

B. 

C. 

∫
1

0
x tan− 1 x  dx =

+
π

4

1
2

−
π

4

1
2

−
1
2

π

4

https://dl.doubtnut.com/l/_tXHbaR6PqRhw
https://dl.doubtnut.com/l/_3vUmG1ewzqva
https://dl.doubtnut.com/l/_32N4xAPgFP9n


D. 

Answer: B

Watch Video Solution

− −
π

4

1

2

46. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1 / √2

0
dx = ?

sin− 1 x

(1 − x2)3 / 2

+ log 2
π

4

1

2

− log 2
π

4

1

2

+ log 2
π

2

− log 2
π

2

47. Evaluate .∫
1 / 2

0

dx
x sin− 1 x

√1 − x2

https://dl.doubtnut.com/l/_32N4xAPgFP9n
https://dl.doubtnut.com/l/_mG2geidFgxbo
https://dl.doubtnut.com/l/_zuwDxg18Chin


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

+
1

2

√3π

12

−
1

2

√3π

12

+
1

2

√3π

12

48. The value of  dx .. . . . .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
3π / 4

π / 4

x

1 + sinx

π(√2 − 1)

π(√2 + 1)

2π(√2 − 1)

2π(√2 + 1)

https://dl.doubtnut.com/l/_zuwDxg18Chin
https://dl.doubtnut.com/l/_qKE3xm1zBceA


49. If , then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(y) = ey, g(y) = y, y > 0, and F (t) = ∫
t

0

f(t − y)g(y)dy

F (t) = 1 − e− t(1 + t)

F (t) = et − (1 + t)

F (t) = tet

F (t) = te− t

50. 

A. 

B. 

C. 0

∫
2x

0
d . sin( + )dx =

x

2
x

2

π

4

1

2√2

https://dl.doubtnut.com/l/_qKE3xm1zBceA
https://dl.doubtnut.com/l/_d0rtdrm7abzL
https://dl.doubtnut.com/l/_PyiScG3rrE9D


D. None of these

Answer: C

View Text Solution

51.  then  is (A) 
 (B) 
 (C) 


(D) 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

I10 = ∫
0

x10 sinxdx

π

2

I10 + 90I8 10( )
6π

2
10( )

9π

2

10( )
8π

2
10( )

7π

2

10( )
6π

2

10( )
9π

2

10( )
7π

2

https://dl.doubtnut.com/l/_PyiScG3rrE9D
https://dl.doubtnut.com/l/_IBtaaWUYG2xl


52. If  then  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

0
x log(1 + ) dx = a + b log  ,

x

2

2

3
a and b

a = , b =
3

2

3

2

a = , b = −
3

4

3

4

a = , b =
3

4

3

2

a = b

53. If , then the expression for I(m,n) in

terms of I(m+1,n-1) is:

A. 

B. 

C. 

I(m, n) = ∫
1

0
tm(1 + t)

n
. dt

− I(m + 1, n − 1)
2n

m + 1

n

m + 1

I(m + 1, n − 1)
n

m + 1

+ I(m + 1, n − 1)
2n

m + 1

n

m + 1

https://dl.doubtnut.com/l/_ydYsvlDSzifK
https://dl.doubtnut.com/l/_4jCttDpDzIBr


D. 

Answer: B

Watch Video Solution

I(m + 1, n − 1)
m

m + 1

54. The value of  is

A. 5049

B. 5051

C. 5050

D. None of these

Answer: B

Watch Video Solution

(5050)∫ 1

0
(1 − x50)

100
dx

∫ 1
0 (1 − x50)101

dx

55.  is equal to∫
10

5

dx
1

(x − 1)(x − 2)

https://dl.doubtnut.com/l/_4jCttDpDzIBr
https://dl.doubtnut.com/l/_MQHCNq8pOwRx
https://dl.doubtnut.com/l/_skl7qjS9Q57O


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

log( )
3

5

log( )
37
32

log( )
12

7

log( )
32

27

56. The value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
3

1

dx

x(1 + x2)

log( )
1

2

9

5

log( )
1

2

5

9

log( )
1

2
4

9

log( )
1

2

9

4

https://dl.doubtnut.com/l/_skl7qjS9Q57O
https://dl.doubtnut.com/l/_7XYHbGMJRIOw


57. The value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
3

2

dx
x + 1

x2(x − 1)

2 log 2 −
1

6

log −
16

9

1

6

log −
4
3

1

6

log +
16

9

1

6

58. Evaluate .

A. 

B. 

C. 

∫
π / 4

0
dx

sinx + cos x

9 + 16 sin 2x

log 3
1

20

log 3

log 5
1

20

https://dl.doubtnut.com/l/_7XYHbGMJRIOw
https://dl.doubtnut.com/l/_Fv8lQPkNVZSb
https://dl.doubtnut.com/l/_TGWbGcqC4eKd


D. None of these

Answer: A

Watch Video Solution

59. the value of integral  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
2

0

dx
log(x2 + 2)

(x + 2)2

(√2)3 tan− 1 √2 + log 2 − log 3
5
12

1

4

tan− 1 √2 − log 2 − log 3
√2

3

5
12

1
12

tan− 1 √2 + log 2 + log 3
√2

3

5
12

1

4

tan− 1 √2 − log 2 + log 3
√2

3

5
12

1
12

60. ∫
1

0
dx =

sin− 1( )x
2

x

https://dl.doubtnut.com/l/_TGWbGcqC4eKd
https://dl.doubtnut.com/l/_NvpjvxRXuioi
https://dl.doubtnut.com/l/_PYYdW79rJcJE


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
0

π

6 xdx

tanx

∫
0

dx

π

6 2x

tanx

∫
0

π

2 2xdx

tanx

∫
0

π

6 xdx

sinx

61. If ,then

A. 

B. 

C. 

D. None of these

Answer: A

I1 =

e2

∫

e

and I2 =

2

∫

1

dx
dx

logx

ex

x

I1 = I2

I1 > I2

I1 < I2

https://dl.doubtnut.com/l/_PYYdW79rJcJE
https://dl.doubtnut.com/l/_Fw4M5TQKmCAT


Watch Video Solution

62. Let a, b and c be non - zero real numbers such that

 , then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
3

0
(3ax2 + 2bx + c)dx = ∫

3

1
(3ax2 + 2bx + c)dx

a + b + c = 3

a + b + c = 1

a + b + c = 0

a + b + c = 2

63. If  then 


A. 1

∫
4

− 1

f(x)dx = 4 and ∫
4

2

(3 − f(x))dx = 7,

∫
2

− 1
f(x)dx =

https://dl.doubtnut.com/l/_Fw4M5TQKmCAT
https://dl.doubtnut.com/l/_dZKW5UAapYad
https://dl.doubtnut.com/l/_zhPpZi1okBUT


B. 2

C. 3

D. 5

Answer: D

Watch Video Solution

64.  equals

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ifg(x) = ∫
x

0
cos 4tdt, then g(x + π)

g(x) + g(π)

g(x) − g(π)

g(x)g(π)

g(x)

g(π)

https://dl.doubtnut.com/l/_zhPpZi1okBUT
https://dl.doubtnut.com/l/_YUUpnrsxOoRY
https://dl.doubtnut.com/l/_WAL6covXjLYb


65. if  then  is

A. 1

B. 0

C. 2

D. -2

Answer: A

Watch Video Solution

f(x) = |x − 1| ∫
2

0

f(x)dx

66. 

A. 29

B. 28

C. 27

D. 30

∫
5

− 5
|x + 2|dx

https://dl.doubtnut.com/l/_WAL6covXjLYb
https://dl.doubtnut.com/l/_iuVW0m8ixUzz


Answer: A

Watch Video Solution

67. If , then for any  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = ∫
x

− 1
|t|dt x ≥ 0, f(x)

(1 − x2)
1

2

1 − x2

(1 + x2)
1

2

1 + x2

68. 

A. 0

∫
1

0

|3x − 1|dx =

https://dl.doubtnut.com/l/_iuVW0m8ixUzz
https://dl.doubtnut.com/l/_DIYY2Nb3JuLt
https://dl.doubtnut.com/l/_pd7bbXTWngEX


B. 

C. 

D. 

Answer: B

Watch Video Solution

4

3√3

3

7

5

6

69.  (A)  (B)  (C)  (D) 

A. 

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

∫
2

− 2

∣∣1 − x2∣∣dx = 4 2 −2 0

2

https://dl.doubtnut.com/l/_pd7bbXTWngEX
https://dl.doubtnut.com/l/_YyWz68qjWU0x
https://dl.doubtnut.com/l/_LzuXyVaEwz0I


70. The value of  is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

∫
1

0

x
∣
∣
∣
x −

∣
∣
∣
dx

1
2

1

3

1

4

1

8

71. …………………………..

A. 200

B. 100

C. 50

D. 0

∫
100π

0

|cos x|dx =

https://dl.doubtnut.com/l/_LzuXyVaEwz0I
https://dl.doubtnut.com/l/_dUlMfoOEq37H


Answer: A

Watch Video Solution

72. 

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

|sinx − cos x|dx =

2(√2 − 1)

√2 − 1

2(√2 + 1)

73. The integral  dx is equal to

A. 

∫
π

0
√1 + 4sin2 − 4sin

x

2
x

2

4√3 − 4

https://dl.doubtnut.com/l/_dUlMfoOEq37H
https://dl.doubtnut.com/l/_mtm608jlwXPW
https://dl.doubtnut.com/l/_wf2WnKn27ay0


B. 

C. 

D. 

Answer: B

Watch Video Solution

4√3 − 4 −
π

3

π − 4

− 4 − √3
2π

3

74. If  ,then  equals (A) 2 (B)  (C)  (D) 0

A. 2

B. 

C. 

D. 

Answer: C

Watch Video Solution

I = ∫
e

|logx|
1
e

dx

x2
I

2

e
2(1 − )

1

e

2

e

2(1 − )
1

e

0

https://dl.doubtnut.com/l/_wf2WnKn27ay0
https://dl.doubtnut.com/l/_CxC4VFshJdhd


75. __________ where [x] is greatest integer function

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
3

0
[x]dx =

3

0

2

1

76. Let , for every real number x, where [x] is integral part

of x. Then  is

A. 

B. 

C. 

f(x) = x − [x]

∫
1

− 1

f(x)dx

1

2

0

https://dl.doubtnut.com/l/_SMyOAb5PRQ2f
https://dl.doubtnut.com/l/_TycyIM5U4Lfq


D. 

Answer: A

Watch Video Solution

1

2

77. The integral 
 denotoes the greatest integer

function, equals ...........

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1 .5

0
[x2]dx, where[.]

2 + √2

2 − √2

−2 + √2

−2 − √2

https://dl.doubtnut.com/l/_TycyIM5U4Lfq
https://dl.doubtnut.com/l/_ND0dVLAA0n8V


78. The value of dx, where  is the greatest integer

function.

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

∫
9

0
[√x + 2] [. ]

31

22

23

79. If for all real numbers 
 is the greatest integer less than or equal

to 
then the value of the integral 
 is
 
b. 0 c. 

d. 

A. 

B. 

y, [y]

y, ∫
3π / 2

π / 2

[2s ∈ x]dx −π π/2

π/2

−π

0

https://dl.doubtnut.com/l/_CL5vOCwMhrPO
https://dl.doubtnut.com/l/_uOmc1ZVyEqHx


C. 

D. 

Answer: C

Watch Video Solution

−
π

2

π

2

80.  


(where  greatest integer less or equal to )

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
0

(x − [cos x])dx =

π

2

[t] = t

π

4

−
π2

8

π

8

− 1
π2

8

π2

8

https://dl.doubtnut.com/l/_uOmc1ZVyEqHx
https://dl.doubtnut.com/l/_lFpuSB6KTAsh
https://dl.doubtnut.com/l/_Ll4dwCSukmSc


81. The value of  where , and  denotes the

greatest integer not exceeding  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
a

1
[x]f' (x)dx, a > 1 [x]

x

af(a) − {f(1) + f(2) + …. . + f([a])}

[a]f(a) − {f(1) + f(2) + ……. . + f([a])}

[a]f([a]) − {f(1) + f(2) + …………. + f(a)}

af([a]) − {f(1) + f(2) + ………… + f(a)}

82. If  denotes the greatest integer less than or equal to x then the

value of  is equal to

A. 2

B. 3

C. 1

[x]

∫
2

0

(|x − 2| + [x])dx

https://dl.doubtnut.com/l/_Ll4dwCSukmSc
https://dl.doubtnut.com/l/_OPPXnxTfnuLD


D. 

Answer: B

Watch Video Solution

4

83. 

A. 1

B. 2

C. 3

D. 

Answer: D

Watch Video Solution

∫
2

− 2
[x]dx

4

https://dl.doubtnut.com/l/_OPPXnxTfnuLD
https://dl.doubtnut.com/l/_Z17Qa2uQ2G6k


84. If [x] dentoes the greatest integer less than or equal to x, then the

value of  is

A. 1

B. 2

C. 4

D. 

Answer: B

Watch Video Solution

∫
5

0
[|x − 3|]dx

8

85. 

A. 2

B. 

C. 

∫
11

0

dx =
(11 − x)2

x2 + (11 − x)2

11

2

4

https://dl.doubtnut.com/l/_9tUvzt3gzQrM
https://dl.doubtnut.com/l/_evwHvfNC80F2


D. 

Answer: B

Watch Video Solution

1

2

86. 

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
0

dx

π

2 √sinx

√sinx + √cos x

−π

3π

2

π

4

87.  is equal to∫
0

π

2 sin1000 xdx

sin1000 x + cos1000 x

https://dl.doubtnut.com/l/_evwHvfNC80F2
https://dl.doubtnut.com/l/_0XQ7nyEGck24
https://dl.doubtnut.com/l/_x97lRz76oasx


A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

4

1000

π

2

88.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
0

dx

π

2 tan7 x

cot7 x + tan7 x

π

2

π

4

π

6

π

3

https://dl.doubtnut.com/l/_x97lRz76oasx
https://dl.doubtnut.com/l/_VIAuiBdSX2uj


89. The value of the integral is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0
dx

√cot x

√cot x + √tanx

π

π

2

π

4

π

3

90. 

A. 

B. 

C. 

∫
π / 2

0
dx =

n√secx
n√secx + n√cosec x

π

2

π

3

π

4

https://dl.doubtnut.com/l/_VIAuiBdSX2uj
https://dl.doubtnut.com/l/_9Lq6yXJ7ofYy
https://dl.doubtnut.com/l/_wmeAth9onmaH


D. 

Answer: C

Watch Video Solution

π

6

91. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

dx
1

1 + √tanx

π

4

π

2

π

2π

https://dl.doubtnut.com/l/_wmeAth9onmaH
https://dl.doubtnut.com/l/_cbr7WjcSWPAR


92. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
0

=

π

2 dx

1 + (tanx)
√2018

π

3π

4

π

2

π

4

93. The value of  is

A. 

B. 

C. 

D. 

∫
π / 2

0

dx
2sin x

2sin x + 2cos x

2

π

π

4

2π

https://dl.doubtnut.com/l/_LYPg2RYgnIFL
https://dl.doubtnut.com/l/_UbO8zXKnItGk


Answer: C

Watch Video Solution

94. 

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
0

dx =

π

2 2008sin x

2008sin x + 2008cos x

π

π

4

π

2

95. 

A. 

∫
0

dx

π

2 cos3 x

sinx + cos x

π − 1

2

https://dl.doubtnut.com/l/_UbO8zXKnItGk
https://dl.doubtnut.com/l/_SYqXTGdmdZzE
https://dl.doubtnut.com/l/_Hgy6xOgdDt6D


B. 

C. 

D. 

Answer: B

Watch Video Solution

π − 1

4

1 + π

4

π − 3

4

96. 

A. 1

B. 0

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

log(cot x)dx =

π

2

π

4

https://dl.doubtnut.com/l/_Hgy6xOgdDt6D
https://dl.doubtnut.com/l/_u8Jt1h3cC6cb
https://dl.doubtnut.com/l/_75KqYfrS3TXu


97. If , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
0

log(cos x)dx = − log 2

π

2 π

2
∫

0

log(cos ecx)dx =

π

2

− log 2
π

2

π

2

− log 2
π

2

log 2
π

2

+ log 2
π

2

π

2

98.  dx is equal to

A. 

B. 

C. 

D. 

∫
π / 2

0

sin 2x log(tanx)

π

π

2

0

2π

https://dl.doubtnut.com/l/_75KqYfrS3TXu
https://dl.doubtnut.com/l/_prUwhfIUMeEi


Answer: C

Watch Video Solution

99. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
0

dx =

α

3 f(x)

f(x) + f( )α− 3x

3

2α

3

α

2

α

3

α

6

100. Let f be a non constant continuous function for all . Let f

satisfy the relation  for some . Then 

x ≥ 0

f(x)f(a − x) = 1 a ∈ R+

https://dl.doubtnut.com/l/_prUwhfIUMeEi
https://dl.doubtnut.com/l/_qElWs9kfFV2n
https://dl.doubtnut.com/l/_R6UuLL0GuYCn


 is equal to

A. a

B. 

C. 

D. 

Answer: C

Watch Video Solution

I = ∫
a

0

dx

1 + f(x)

a

4

a

2

f(a)

101.  is equal to

A. 

B. 

C. 

D. 

∫
π

0

xdx

1 + sinx

π

2

π

log 2
π

2

π log 2

https://dl.doubtnut.com/l/_R6UuLL0GuYCn
https://dl.doubtnut.com/l/_A2tZ5MImMjHV


Answer: B

Watch Video Solution

102. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π

0

=
xdx

4 cos2 x + 9 sin2 x

π2

12

π2

4

π2

6

π2

3

103. 

A. 

∫
π

0

dx
n tanx

secx + cos x

π2

4

https://dl.doubtnut.com/l/_A2tZ5MImMjHV
https://dl.doubtnut.com/l/_AgfBZSXCNFx0
https://dl.doubtnut.com/l/_JKt2ega4wiiS


B. 

C. 

D. 

Answer: A

Watch Video Solution

π2

2

3π2

2

π2

3

104. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
0

dx =

π

2 x sinx cos x

cos4 x + sin4 x

0

π

8

π2

8

π2

16

https://dl.doubtnut.com/l/_JKt2ega4wiiS
https://dl.doubtnut.com/l/_qUiEW1UPrQAS


105. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0
dx

log(1 + x)

1 + x2

log 2
π

2

π log 2

log 2

log 2
π

8

106. The value of  is

A. 

B. 

C. 

D. 

∫ dx
8 log(1 + x)

1 + x2

π log 2

log 2
π

8

log 2
π

2

log 2

https://dl.doubtnut.com/l/_Us0aGuY7n6Sk
https://dl.doubtnut.com/l/_qvnvNlPcque9


Answer: A

Watch Video Solution

107.  where [.] denotes the greatest integer function, is

equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π

0

[cot x]dx,

π

2

1

−1

−
π

2

108. ∫
8

2
dx

√10 − x

√x + √10 − x

https://dl.doubtnut.com/l/_qvnvNlPcque9
https://dl.doubtnut.com/l/_sBSCwMx2KfHW
https://dl.doubtnut.com/l/_oXP65YJyVboA


A. 0

B. 3

C. 10

D. 8

Answer: B

Watch Video Solution

109.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
2017

2016

dx
√x

√x + √4033 − x

1

4

3

2

2017
2

1

2

https://dl.doubtnut.com/l/_oXP65YJyVboA
https://dl.doubtnut.com/l/_9dzGSAalNuPW


110.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
3π / 4

π / 4

dx

1 + cos x

−1

−2

2

4

111. The
 integral 
 is equal to:
 (1) 2 (2)

4 (3) 1 (4) 6

A. 2

B. 4

∫
4

2

logx2

logx2 + log(36 − 12x + x2)dx

https://dl.doubtnut.com/l/_9dzGSAalNuPW
https://dl.doubtnut.com/l/_08eo8wdxfjeh
https://dl.doubtnut.com/l/_41pgpCPnroiP


C. 1

D. 6

Answer: C

Watch Video Solution

112. The value of  is equal to

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

−π / 2
dx

1

esin x + 1

−
π

2

π

2

https://dl.doubtnut.com/l/_41pgpCPnroiP
https://dl.doubtnut.com/l/_Ul7ePGMhuy9c


113. The value of , is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√In3

∫

√In2

dx
xsinx2

sinx2 + sin(In6 − x2)

log
1

4

3

2

log
1

2

3

2

log
3

2

log
1

6

3

2

114. The value of the integral  is

A. 

B. 

C. 

I = ∫
2014

1 / 2014
dx

tan− 1 x

x

log 2014
π

4

log 2014
π

2

π log 2014

https://dl.doubtnut.com/l/_Od9PAh168N1m
https://dl.doubtnut.com/l/_GZv8qaJifqy0


D. 

Answer: B

Watch Video Solution

log 2014
1

2

115. The value of the definite integral

 is

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
1

π

5π
2

π

2

etan − 1 ( sin x )

etan − 1 ( sin x ) + etan − 1 ( cos x )

π

e

π

2

https://dl.doubtnut.com/l/_GZv8qaJifqy0
https://dl.doubtnut.com/l/_1UAg1mscF9RO


116. If  then 

 is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = f(π + e − x) and ∫
π

e

f(x)dx = ,
2

e + π

∫
π

e

xf(x)dx

π − e

π + e

2

1

π − e

2

117. The value of  is

A. 

B. 

C. 

∫
3π / 4

π / 4

dϕ
ϕ

1 + sinϕ

πtan
π

8

log tan
π

8

tan
π

8

https://dl.doubtnut.com/l/_udy5RuaeLoCi
https://dl.doubtnut.com/l/_7nybDVkbVkTf


D. None of these

Answer: A

Watch Video Solution

118. Let , then  is equal

to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I1 = ∫
π−a

a

xf(sinx)dx, I2 = ∫
π−a

a

f(sinx)dx I2

I1
π

2

πI1

I1
2

π

2I1

https://dl.doubtnut.com/l/_7nybDVkbVkTf
https://dl.doubtnut.com/l/_lObGh1Q2IFKp


119. If f(x)  and 

, where g is not identify function. Then the

value of , is

A. 1

B. -3

C. -1

D. 2

Answer: D

Watch Video Solution

= , I1 =

f ( a )

∫

f ( −a )

xg{x(1 − x)}dx
e2

1 + ex

I2 =

f ( a )

∫

f ( −a )

g{x(1 − x)}dx

I2 /I1

120. Q. 

A. 

∫
π

0
(ecos2 x(cos3(2n + 1)xdx, n ∈ I

x

https://dl.doubtnut.com/l/_4yBcrlO9kIaE
https://dl.doubtnut.com/l/_ku9vcCPn40b4


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

1

0

121.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π

0

xf(sinx)dx

π∫
π

0
f(cos x)dx

π∫
π

0
f(six)dx

∫
0

f(sinx)dx
π

2

π

2

π∫
0

f(cos x)dx

π

2

https://dl.doubtnut.com/l/_ku9vcCPn40b4
https://dl.doubtnut.com/l/_slXIyRuc9VFv
https://dl.doubtnut.com/l/_uJcS5FSQvbKs


122. If  and ,

then  is equal to

A. 1

B. 2

C. 

D. 

Answer: D

Watch Video Solution

I1 = ∫
π / 2

0

f(sin 2x)sinxdx I2 = ∫
π / 4

0

f(cos 2x)cos xdx

I1 /I2

1/√2

√2

123. Evaluate:


A. 

B. 

C. 

∫
100π

0
√(1 − cos 2x)dx.

I = 0

I = 200√2

I = π√2

https://dl.doubtnut.com/l/_uJcS5FSQvbKs
https://dl.doubtnut.com/l/_Y1b5StS18u9c


D. 

Answer: B

Watch Video Solution

I = 100

124.  dx is equal to

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

∫
1

− 1
sin3 x cos2 x

1
2

2

125. The value of  issin103 x. cos101 xdx

∫ π

4

−π

4

https://dl.doubtnut.com/l/_Y1b5StS18u9c
https://dl.doubtnut.com/l/_OkJXYZJybvEI
https://dl.doubtnut.com/l/_pPwJbFwxQbL1


A. 

B. 

C. 

D. 2

Answer: B

Watch Video Solution

( )
101π

4

0

( )
103π

4

126. The value of  is

A. 2

B. 0

C. -2

D. 4

Answer: D

Watch Video Solution

∫
2

− 2
(x cos x + sinx + 1)dx

https://dl.doubtnut.com/l/_pPwJbFwxQbL1
https://dl.doubtnut.com/l/_4H6yl94Byj71


127.  equals

A. 4

B. -4

C. 8

D. 0

Answer: D

Watch Video Solution

∫
4

4
log( )dx

9 − x

9 + x

128. Evaluate the following : 

A. 1

B. 3

∫
π / 2

−π / 2

log( )dx
2 − sinx

2 + sinx

https://dl.doubtnut.com/l/_4H6yl94Byj71
https://dl.doubtnut.com/l/_JpJ0LDKkKofW
https://dl.doubtnut.com/l/_2INxLqaEuUbH


C. 2

D. 0

Answer: D

Watch Video Solution

129. To find the numberical value of  it is necessary

to know the values of teh constants:

A. 

B. 

C. 

D. p and s

Answer: D

Watch Video Solution

2

∫

− 2

(px3 + qx + 8)dx

p

q

s

https://dl.doubtnut.com/l/_2INxLqaEuUbH
https://dl.doubtnut.com/l/_N0ADDwdZeV2R


130. If  then  (A)  (B) 

(C)  (D) 

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

f(x) = {
ecos x sinx |x| ≤ 2

2 otherwise
∫

3

− 2
f(x)dx = 0 1

2 3

131. 
 
 (b)

0
(c) 4 (d)
6

A. 2

B. 4

C. 0

∫
0

− 2

{x3 + 3x2 + 3x + 3 + (x + 1)cos(x + 1)dxisequa < o −4

https://dl.doubtnut.com/l/_SB0lYL1Hu2wx
https://dl.doubtnut.com/l/_c6ds7DPOM58W


D. 8

Answer: B

Watch Video Solution

132. If f(x) is defined on  by 

 then  is

equal to

A. 64

B. -48

C. 0

D. 24

Answer: C

Watch Video Solution

[ − 2, 2]

f(x) = 4x2– 3x + 1 and g(x) =
f( − x) − f(x)

x2 + 3
∫

2

− 2
g(x)dx

https://dl.doubtnut.com/l/_c6ds7DPOM58W
https://dl.doubtnut.com/l/_HnVav083G42W
https://dl.doubtnut.com/l/_6xiGj69LbLDS


133.  is equal to

A. 0

B. 1

C. 2

D. 4

Answer: D

Watch Video Solution

∫
2

− 2

|x|dx

134.  is equal to

A. 

B. 

C. 

D. 

∫
2

− 2
|x cos πx|dx

8

π

4
π

2

π

1

π

https://dl.doubtnut.com/l/_6xiGj69LbLDS
https://dl.doubtnut.com/l/_b02TuyZAt54M


Answer: A

View Text Solution

135. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1

0
x tan− 1 x  dx =

− 1
π

2

+ 1
π

2

π − 1

0

136. 

A. 

∫
π / 2

−π / 2

dx =
sin4 x

sin4 x + cos4 x

π

https://dl.doubtnut.com/l/_b02TuyZAt54M
https://dl.doubtnut.com/l/_eepIRhwdnGuX
https://dl.doubtnut.com/l/_ZFNbEP3c2xbi


B. 

C. 

D. 

Answer: D

Watch Video Solution

π

4

0

π

2

137. The value of  dx is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

−π / 2

sin2 x

1 + 2x

π

2

4π

π

4

π

8

https://dl.doubtnut.com/l/_ZFNbEP3c2xbi
https://dl.doubtnut.com/l/_318nAH3Q24hl


138. Evaluate:


A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

− 1
dx

sinx − x2

3 − |x|

2∫
1

0
dx

sinx

3 − |x|

2∫
1

0
dx

sin − x2

3 − |x|

2∫
1

0
dx

sinx − x2

3 − |x|

139. The value of integral , where (a and b are

integers), is

A. 

B. 

C. 

π

∫

−π

(cos ax − sin bx)
2
dx

−π

0

π

https://dl.doubtnut.com/l/_4MehRlY4CMdV
https://dl.doubtnut.com/l/_WFH4hyfzq7l4


D. 

Answer: D

Watch Video Solution

2π

140.  is equal to (A)  (B) 

(C)  (D) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
−

−

{(π + x)3 + cos2(x + 3π)}dx

π

2

3π
2

− 1
π

4
π4

32

+
π4

32

π

2

π

2

π4

32

+
π4

32

π

2

π

2

− 1
π

4

https://dl.doubtnut.com/l/_WFH4hyfzq7l4
https://dl.doubtnut.com/l/_9hrxSLmeTjEx


141. The value of the integral 

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

−π / 2
(x2 + log )cos xdx

π − x

π + x

− 4
π2

2

+ 4
π2

2

π2

2

142. Evaluate:


A. 

B. 

C. 

D. 

∫
π / 4

π / 4
dx

x + π/4

2 − cos 2x

8π√3

5

2π√3

9

4π2√3

9

π2

6√3

https://dl.doubtnut.com/l/_1n42r6mLTkfj
https://dl.doubtnut.com/l/_hn8hsyeI10oF


Answer: D

Watch Video Solution

143. Let  be a function defined on R such that

equals

A. 

B. 

C. 41

D. 42

Answer: B

Watch Video Solution

p(x)

lim
x→ ∞

= 1, p' (x) = p' (1 − x), for allx ∈ [0, 1], p(0) = 1 and p(1)
f(3x)

f(x)

√41

21

https://dl.doubtnut.com/l/_hn8hsyeI10oF
https://dl.doubtnut.com/l/_KCWY4ulzjYWO


144. 

A. 0

B. 1

C. 2

D. 4

Answer: A

Watch Video Solution

A(x) =
∣
∣

∣

∣
∣

1 2 3

x + 1 2x + 1 3x + 1

x2 + 1 2x2 + 1 3x2 + 1

∣
∣

∣

∣
∣

⇒ ∫
1

0

A(x)dx =

145. The value of  is

A. 

B. 

C. 

D. None of these

∫
sin2 x

0

sin− 1 √tdt + ∫
cos2 x

0

cos − 1 √tdt

π

2

1

π

4

https://dl.doubtnut.com/l/_lPqIkx6y3brK
https://dl.doubtnut.com/l/_SoXuiwRbI2kx


Answer: C

Watch Video Solution

146. If  and , then the value of

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

M = ∫
0

dx

π

2 cos x
x + 2

N = ∫
0

dx

π

4 sinx cos x

(x + 1)2

M − N

π

π

4

2

π − 4

2

π + 4

https://dl.doubtnut.com/l/_SoXuiwRbI2kx
https://dl.doubtnut.com/l/_WYvYv0buez7g


147. If for nonzero 
 where 
 then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x, af(x) + bf( ) = − 5,
1

x

1

x
a ≠ b

∫
2

1

f(x)dx = 1_ _

[a log 2 − 5a b]
1

(a2 + b2)

7
2

[a log 2 − 5a + b]
1

(a2 − b2)

7
2

[a log − 5a − b]
1

(a2 − b2)

7
2

[a log 2 − 5a − b]
1

(a2 + b2)

7
2

148. Let  be the function defined on  given by  and 

 for . The value of  is (asked as

Match the following question)

A. 0

f [ − π, π] f(0) = 9

f(x) =
sin( )9x

2

sin( )x
2

x ≠ 0 ∫
π

−π

f(x)dx
2

π

https://dl.doubtnut.com/l/_O5X7NZLgq9wW
https://dl.doubtnut.com/l/_oD5k9YnfU4ju


Evaluatio Test

B. 2

C. 4

D. 6

Answer: C

Watch Video Solution

1. 

A. 

B. 

C. 

D. 

Answer: A

∫
1

0
dx

log(1 + x)

1 + x2

log 2
π

8

log
π

8

1

2

log 2
π

4

log
π

4

1

2

https://dl.doubtnut.com/l/_oD5k9YnfU4ju
https://dl.doubtnut.com/l/_kiG5Z6DcqCz3


Watch Video Solution

2. For every integer , then the value of 

A. 20

B. 25

C. 30

D. 35

Answer: C

Watch Video Solution

n, ∫
n+ 1

n

f(x)dx = n2

∫
5

0

f(x)dx =

3. If ,then 

A. 

B. 

f(x) + f(3 − x) = 0 ∫
3

0
dx =

1

1 + 2f ( x )

1

2

3

2

https://dl.doubtnut.com/l/_kiG5Z6DcqCz3
https://dl.doubtnut.com/l/_1hI9tgMG3TdI
https://dl.doubtnut.com/l/_kuua0AnO6nL3


C. 

D. 

Answer: B

Watch Video Solution

5

2

7
2

4. 

A. 7

B. 0

C. 

D. 

Answer: B

Watch Video Solution

∫
∞

0
dx =

x logx

(1 + x2)2

5 log 13

2 log 5

https://dl.doubtnut.com/l/_kuua0AnO6nL3
https://dl.doubtnut.com/l/_ac1MAJVd4E8H


5. Let  where [ ] is G.I.F.,

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

I = ∫
n

0
[x]dx, n > 0,

n

n(n + 1)

2

n(n − 1)

2

6. If  = , then

A. A.P.

B. G.P.

C. H.P.

D. None of these

In ∫
0

dx

π

2 sin2 nx

sin2 x

https://dl.doubtnut.com/l/_P3TRRbqixaLc
https://dl.doubtnut.com/l/_dlG1hiukTRdJ


Answer: A

Watch Video Solution

7. The value of the integral 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

∫
β

α

dx
1

√(x − α)(β − x)

π

2π

π

2

8. Let  is

equal to

f(x) = and ∫
1

0
x3. dx = αThen, ∫

1

− 1
t3f(t)dt

ex + 1
ex − 1

ex + 1
ex − 1

https://dl.doubtnut.com/l/_dlG1hiukTRdJ
https://dl.doubtnut.com/l/_RztgEFYLZFah
https://dl.doubtnut.com/l/_v9zKFaGt5bhP


A. 0

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

α

2α

9. If m and n are positive integers and ,

then  is equal to

A. 

B. 

C. 

D. None of these

Answer: B

f(m, n) = ∫
1

0
xn− 1(logx)mdx

f(m, n)

f(m − 1, n)
m

n

− f(m − 1, n)
m

n

f(m − 1, n)
n

m

https://dl.doubtnut.com/l/_v9zKFaGt5bhP
https://dl.doubtnut.com/l/_gzvEbtER6AFR


View Text Solution

10. The least value of the function  on the

interval  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ϕ(x) = ∫
x

(4 sin t + 3 cos t)dt
7π
6

[ , ]
7π
6

4π
3

√3 + 1

2

√3 − 1

2

7(1 − √3)

2

−( )
√3 + 1

2

11. Prove that 

A. 

∫
b

a

f(x)dx = (b − a)∫
1

0

f((b − a)x + a)dx

a − b

https://dl.doubtnut.com/l/_gzvEbtER6AFR
https://dl.doubtnut.com/l/_K0r9dJs5I68K
https://dl.doubtnut.com/l/_xZo79iftelCj


B. 

C. 

D. None of these

Answer: B

Watch Video Solution

b − a

a + b

12. The integral 
 denotoes the greatest integer

function, equals ...........

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫
1 .5

0
[x2]dx, where[.]

√2 − 2

2 − √2

2 + √2

https://dl.doubtnut.com/l/_xZo79iftelCj
https://dl.doubtnut.com/l/_npN4z3C7Zlsm


13. If  is a function satisfying  for all non zero 

then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) f( ) + x2f(x) = 0
1

x
x

∫
sec θ

cos θ

f(x)dx =

cos θ + secθ

cos2 θ

sec2 θ

0

14. 

A. 

lim
n→ ∞

[1 + √ + √ + √ + ………. . + √
1

n

n

n + 1
n

n + 2
n

n + 3
n

n + 3(

2√2

https://dl.doubtnut.com/l/_npN4z3C7Zlsm
https://dl.doubtnut.com/l/_025Xlyz0FIdT
https://dl.doubtnut.com/l/_lAMY06QLq0jH


B. 

C. 

D. 

Answer: C

Watch Video Solution

2(√2 − 1)

2

4

15. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

lim
n→ ∞

n

∑
n= 1

√n

√r(3√r + 4√n)
2

1

35

1

14

1

10

1

5

https://dl.doubtnut.com/l/_lAMY06QLq0jH
https://dl.doubtnut.com/l/_hap7FpKN1Lls


16. Let f(x) be a function satisfying  with  and g(x)

be a function that satisfies  . Then the value of the

integral , is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f' (x) = f(x) f(0) = 1

f(x) + g(x) = x2

∫
1

0
f(x)g(x)dx

(e − 7)
1

4

(e − 2)
1

4

(e − 3)
1

2

3 − e2 −
1

2

3

2

17. 

A. 400

B. 800

C. 

∫
100π

0
(∣∣sin3 x∣∣ + ∣∣cos3 x∣∣)dx =

800

3

https://dl.doubtnut.com/l/_s1iGsV3yul1M
https://dl.doubtnut.com/l/_v8bXtNB5ZtlG


D. None of these

Answer: C

View Text Solution

18. 







A. 

B.  but 

C.  but 

D.  but 

Answer: C

Watch Video Solution

I1 = ∫
0

dx, I2 = ∫
2π

0

cos6 xdx, I3 = ∫ sin3 xdx, I4 = ∫
0

π

2 sinx − cos x

1 + sinx cos x

π

2

π

2

I2 = I3 = I4 = 0, I1 ≠ 0 I1 = I2 = I3 = 0, I4 ≠ 0

I1 = I2 = I3 = 0, I4 ≠ 0 I1 = I2 = I3 = 0, I4 ≠ 0

I1 = I2 = I3 = I4 = 0

I1 = I2 = I3 = 0 I4 ≠ 0

I1 = I3 = I4 = I2 ≠ 0

I1 = I2 = I4 = 0 I3 ≠ 0

https://dl.doubtnut.com/l/_v8bXtNB5ZtlG
https://dl.doubtnut.com/l/_lCJX5zizjlCE


19. , is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2π

∫

0

dx, n > 0
x sin2n x

sin2n x + cos2n x

π

2π

π2

π21
2

20. The equation  where 

are constants gives a relation between

A. a,b and c

B. a and c

∫
−

{a|sinx| + + c}dx = 0

π

4

π

4

b sinx

1 + cos2 x
a, b, c

https://dl.doubtnut.com/l/_lCJX5zizjlCE
https://dl.doubtnut.com/l/_8HuDLA9wOMus
https://dl.doubtnut.com/l/_wEwuVdVBMQxJ


C. a and b

D. b and c

Answer: B

Watch Video Solution

21. 

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
√log

0
cos(ex

2

)2xex
2

dx =

π

2

1 + sin 1

1 − sin 1

sin 1 − 1

https://dl.doubtnut.com/l/_wEwuVdVBMQxJ
https://dl.doubtnut.com/l/_zJm05DG6MVEl


22. If  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = ∫
x

0
sin6 tdt, f(x + π) =

f(x) + f(π)

f(x) − f(π)

f(x)f(π)

f(x)

f(π)

23. If  is a polynomial of degree 2, such that

A. 

B. 

C. 

f(x)

f(0) = 3, f' (0) = − 7, f' ' (0) = 8∫
2

1

f(x)dx =

11

6

13

6

17
6

https://dl.doubtnut.com/l/_u7Bae66SO8Uz
https://dl.doubtnut.com/l/_NeEWSRNJx9i2


D. 

Answer: A

Watch Video Solution

19

6

24. If  and 

then constants  and  are

A.  and 

B.  and 

C.  and 0

D. 0 and 

Answer: C

Watch Video Solution

f(x) = A sin( ) + B, f'( ) = √2
πx

2

1

2
∫

1

0
f(x)dx =

2A

π

A B

π

2

π

2

2

π

3

π

4
π

−
4
π

https://dl.doubtnut.com/l/_NeEWSRNJx9i2
https://dl.doubtnut.com/l/_vmF0LaO8MXn0


25. If  then the value

of  is

A. 3

B. 0

C. 

D. 

Answer: D

Watch Video Solution

f(x) =

∣
∣

∣
∣

sinx + sinx2x + sin 3x sin 2x sin 3x

3 + 4 sinx 3 4 sinx

1 + sinx sinx 1

∣
∣

∣
∣

,

∫
0

f(x)dx

π

2

2

3

1

3

26. If a is a positive integer, then the number of values of a satisfying

 is:

A. 1

B. 2

∫
0
{a2(cos 3 + cos x) + a sinx − 20 cos x}dx ≤

π

2 x

4

3

4

a2

3

https://dl.doubtnut.com/l/_nemSwLALOH6t
https://dl.doubtnut.com/l/_A8wIKScMbPbk


C. 7

D. 4

Answer: D

Watch Video Solution

27. If for all real numbers 
 is the greatest integer less than or equal

to 
then the value of the integral 
 is
 
b. 0 c. 

d. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y, [y]

y, ∫
3π / 2

π / 2
[2s ∈ x]dx −π π/2

π/2

−π

0

−
π

2

π

2

https://dl.doubtnut.com/l/_A8wIKScMbPbk
https://dl.doubtnut.com/l/_dgoWXiDnGxHs


28. Let f(x) =  then find the value

of  f(x) dx.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∣
∣
∣
∣
∣

secx cos x sec2 x + cot x cos ecx

cos2 x cos2 x cos ec2x

1 cos2 x cos2 x

∣
∣

∣

∣
∣

f
π / 2
0

+
π

4

8

15

−
π

4

8

15

− −
π

4

8

15

− +
π

4

8

15

29. If  then 'a' may take values :

A. 0

B. 4

a

∫

1

( √x + 1 − )dx < 4
1

√a

3

2

1

√x

https://dl.doubtnut.com/l/_dgoWXiDnGxHs
https://dl.doubtnut.com/l/_Sf3anYZwEtXj
https://dl.doubtnut.com/l/_0wF8XBDgBx83


C. 9

D. None of these

Answer: D

Watch Video Solution

30. Let 
 If 


then one of the possible values of 

is:
15 (b) 16
(c) 63 (d)
64

A. 15

B. 16

C. 63

D. 64

Answer: D

Watch Video Solution

F (x) = ( ), x > 0.
d

dx

esin x

x

∫
4

1

es ∈ x3dx = F (k) − F (1),
3

x
k,

https://dl.doubtnut.com/l/_0wF8XBDgBx83
https://dl.doubtnut.com/l/_Bfi4CTS3VrYX


https://dl.doubtnut.com/l/_Bfi4CTS3VrYX

